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#include <stdio.h>
#include <stdlib.h>
#include <math.h>

#define M 6 /* T—RDRTE */
#define N 3 /* NRKX Tl */

[ RGRIVD AT */

void input_vector2( double *b, char c, int n, FILE *fin, FILE *fout);
I BRERYMBRIRFEH D REEE +/

void gauss2( double a[N+1][N+1], double b[N+1], int n );

* BINITREM */

void least_square( double *x, double *y, FILE *fout );

int main(void)
{
FILE *fin, *fout;
double x[M], y[M];
1* JPALIWNDFA =T */
if ( (fin = fopen( "input_func.dat", "r")) == NULL )
{
printf("77A IR DY FEHA : input_func.dat ¥n");
exit(1);
}
if( (fout = fopen( "output_func.dat", "w'')) == NULL )

{
printf(" 77 A ILHMER TEFE A : output_func.dat ¥n");

exit(1);
}

input_vector2( x, 'x', M, fin, fout); /* RIMLxDAH A */
input_vector2(y, 'y, M, fin, fout); /* RIMLyDAH A */
least_square( x, y, fout ); /* /N2FELL */

fclose(fin); fclose(fout); /* 27 ILDIA—X */

return 0;

void least_square( double x|[M], double y[M], FILE *fout )
{
double a[N+1], p[N+1][N+1];
inti, j, k;
1* BRARIRIVOER */
for(i=0; i <= N; i++) {
a[i]=0.0;
for(j=0;j<M;j++) {
a[i] += yl[jlI*pow(x[jl,(double)i) ;
}

}
I* BREATHI DR */
for(i=0;i<=N;it++) {
for(j=05j<=i; j++) {
plillj1=0.0;
for(k=0; k <M; k++) {
plilljl += pow( x[k], (double)(itj) );

plillil = phl[jl;
}

}
1< B IRABAEM HBRKalc LEE
gauss2( p, a, N+1);
I+ FEROH AN ¥/
fprintf( fout, "E/IM2FELK I y =");
for(i=N;i>=0;i-){

if(a[i]>0){
if(i==N){
fprintf(fout, " %5.2f x*%d ", ali],i);
}
else{
fprintf(fout, "+ %5.2f x*%d ", ali],i);
}
}
else{

fprintf(fout, "- %5.2f x*%d ", fabs(ali]),i);
}
}
fprintf(fout, "¥n");
}
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input_func.dat
00 02 04 06 08 1.0
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output_func.dat
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ROMLYIERDBYTT =00
2.00 212 1.62 257 153 2.00
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#include <stdio.h>

#include <stdlib.h>

#define N 9

1 RGRIVD AT */

void input_vector3( double b[N+1], char ¢, FILE *fin );

1* S50 %M */

double lagrange( double x[N+1], double y[N+1], double xi );

int main(void) {
FILE *fin, *fout;
double x[N+1], y[N+1], xi; /* xilZ#H IR */

printf("## [ RZEA AL TS ->");
scanf(" %lIf", &xi);

1% IPANDF—T */

if ( (fin = fopen( "input_lag.dat", "r")) == NULL ) {
printf(" 77 A ILISRDOMYFEH A : input_lag.dat ¥n");
exit(1);

}

if( (fout = fopen( "output_lag.dat", "w")) == NULL ) {
printf(" 77 A ILHMER TEEL A : output_lag.dat ¥n");
exit(1);

}

input_vector3(x, 'x',fin); /* RORLxDAH A */
input_vector3(y,'y',fin); /* RORILyDAH A */

printf("#EH DRI, P(%H=%¥n", xi, lagrange(x,y,xi) );

¥ TS5 M<I-OITHERET7AIVICH A */

for( xi = x[0]; xi <= x[N]; xi +=0.01) {
fprintf(fout, " %f ¥t %f¥n", xi, lagrange(x,y,xi) );

}

fclose(fin); fclose(fout); /* 27D A—X */

return 0;

At Ing3 4L p.125s

1% 595008 */
double lagrange( double x[N+1], double y[N+1], double xi )
{

int i, k;

double pn = 0.0, li;

/*P_n(x)DEFE */
for (i=0;i<=N;it++){
li=1.0;
/*Li(x)DETE */
for(k=0; k<=N; k++) {
if( k !=1) li *= (xi -x[K]) / (x[i]-x[K]);
}
pn +=1i * y[i];
}

return pn;

}

/* b[0...N]JDAF */
void input_vector3( double b[N+1], char ¢, FILE *fin )
{

int i;

for(i=0;i<=N;it+){

fscanf(fin, " %If", &bli]);

}

}
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input_lag.dat
00 02 04 06 08 12 14 16 18 20

20 21 16 26 15 27 067 3.5 094 20
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#include <stdio.h>
#include <stdlib.h>
#include <math.h>
#define M 6 /* T—RDRTHE */
#define N 3 /* NREATHELL */
[ RGEILDAA */
void input_vector2( double *b, char ¢, FILE *fin, FILE *fout);
% ATH DIRBRELR */
1% BRERYMBIREEH O RBEEE +/
void gauss2( double a[N+1][N+1], double b[N+1], int n );
/% B2 SEFERHL */
void least_square_coef( double x[M], double y[M], double a[N+1], FILE ?
/* BRIN2FEAA L */
void least_square( double x|[M], double y[M], FILE *fout );
/* B¥RDER */
void curve( double x[M], double y[M], double t{M], FILE *fout);
I+ Bh#R L DRI T—2H N +/
void curve_shape( double a0[N+1], double bO[N+1], FILE *fp1);
double a[N+1], b[N+1]; /* ' O—/NJLEEEL */
int main(void){
FILE *fin, *fout, *foutl;
double x[M], y[M], t[M];
1% DPANDF—F #/
if ( (fin = fopen( "curve_fitting.dat", "r")) == NULL ){
printf("7F7AILBR DY FEHA : curve fitting.dat ¥n"); exit(1);

}

if( (fout = fopen( "output_curve.dat", "w'")) == NULL ){
printf(" 77 A ILHDMER TEEH A : output_curve.dat ¥n"); exit(1);
}

if( (foutl = fopen( "output_shape.dat', "w'")) == NULL ){
printf(" 77 A ILHBMER TEFEH A : output_shape.dat ¥n");exit(1);
}

input_vector2( x, 'x', fin, fout );

input_vector2(y, 'y, fin, fout); /* RIMLyD AH A */

input_vector2(t, 't', fin, fout ); /* INTGA—ZtDAH 1 */

curve( x, y, t, fout); /* /N2FIELL */

[* RORILxD A A */

curve_shape( a, b, foutl);
fclose(fin); fclose(fout); /* 274N DHO—X */
return 0;

fout );

void curve( double x|[M], double y[M], double t{M], FILE *fout)
{

least_square_coef( t, x, a, fout);

least_square_coef( t, y, b, fout);

}

void least_square_coef( double x[M], double y[M], double a|[N+1],
FILE *fout )
{

double p[N+1][N+1];

int i, j, k;

1* BANIEILDIERK */
for(i=0; i <= N; i++){

a[i]=0.0;

for(j=0;j <M; j+H){

}a[i] += yljlI*pow(x[jl,(double)(i)) ;
3

1% RBATHIDYERE */
for(i=0;i<=N; i++t){
for(j=0; j<=i; j++){
plil[j]=0.0;
for( k =0; k < M; k++){
plillj] += pow( x[K], (double)(itj) );
}
plillil = plilljl;
}

}
1+ BILIRAERER BRFalcLEE
gauss2( p, a, N+1);



EH OS54 F0D2

I* FEROHA */ )
fprintf( fout, "&/M2FE ALK (Ty=");
for(i=N;i>=0;i-){
if(i==N){
fprintf(fout, " %5.2f x*%d ", ali],i);

else{
if(a[i]>0){
fprintf(fout, "+ %5.2f x*%d ", ali],i);
else{
fprintf(fout, "- %5.2f x*%d ",fabs(ali]),i)
}
}

}
fprintf(fout, "¥n'");

I BRERYMBRRFEA Y RBEE */
void gauss2( double a[N+1][N+1], double b[N+1], int n )

inti, j, K, ip;

double alpha, tmp;

double amax, eps=pow(2.0, -50.0); /* eps = 2"{-50} &9 B */
for(k=0; k <n-1; k++)

{ o >
/* ERybDZRIR */
amax = fabs(a[k][Kk]); ip = k;
for(i=k+1;i<n; it+){
if ( fabs(ali][k]) > amax ){
amax = fabs(a[i][k]); ip = i;

;* ERIMEDHITE =/

if (amax < eps ) printf(" A ALT=4T5I [ZIERITIXAL M ¥n");

/* {T3EHL */
if (ip = K){
for(j=k; j <n; j+H){
tmp = a[Kk][j]; a[K][jl=a[ipl[j]; a[ip][jl=tmp;

tmp = b[k] ; b[k]=b[ip]; b[ip]=tmp;

/* ATEEHE */
for(i=k+1;i<n;it+){
alpha = - aJi][k]/a[k][K];
for( j =k+1; j <n; j++){
a[i][j] = a[i][j] + alpha * a[K]{j];

i)[i] = bli] + alpha * b[K];
}
}
/* RIBRA */

b[n-1] = b[n-1]/a[n-1][n-1];
for(k=n-2; k>=0; k--)

{
tmp = b[k];
for(j =k+1; j<=n; j++)

tmp = tmp - a[K][j] * b[j];
}b[k] = tmp/a[K][Kk];

}

void curve_shape( double a0[N+1], double bO[N+1], FILE *fp1)
{
int ij;
double dt0=0.05;
double x0,y0,t0=0.,t1;
for(i=0;i<=20;++i){
x0=a0[0];
y0=b0[0];
t0+=dt0;
t1=t0;
for(j=1;j<=N;++j){
x0+=a0[j]*t1;
y0+=DbO0[j]*t1;
t1*=t0;
}
fprintf(fp1," %I1f¥t%1f¥n",x0,y0);
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curve_fitting.dat 3
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